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A square park of side 35 m has a path of breadth 1m inside its boundary, find:
1. Area of park
2. Cost of planting grass in the remaining part of the park at a rate of Rs. 40/m?

A gardener wants to fence around a circular park of diameter 14m. Find the length of rope to be

bought, if he wants to make two rounds of fence. Find the cost of rope at the rate of Rs. 4 per
meter. {r=22/7}
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The lateral surface area of a hollow cylinder is 4224 cm?. It is cut along its height and
formed a rectangular sheet of width 33 cm. Find the perimeter of rectangular sheet?
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Find the height of a cuboid whose base area is 180 cm? and volume is 900 cm3?

Find the side of a cube whose surface area is 600 cm?.
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A closed cylindrical tank of radius 7 m and height 3 m is made from a sheet of metal. How much
sheet of metal is required?
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9) A road roller takes 750 complete revolutions to move once over to
level a road. Find the area of the road if the diameter of a road roller is
84 cm and length is 1 m.
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10) An ant is moving around a few food pieces of different shapes scattered on the
floor. For which food-piece would the ant have to take a longer round?
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11) A rectangular paper of width 14 cm is rolled along its width and a cylinder of radius 20 cm is
formed. Find the volume of the cylinder? (Take 22/7 for i)
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12) A cuboid is of dimensions 60 cm x 54 cm x 30 cm. How many small cubes with side 6 cm can be
placed in the given cuboid?
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13) Find the height of the cylinder whose volume is 1.54 m? and diameter of the base is 140 cm?
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14) The length, breadth and height of a room are 5 m, 4 m and 3 m respectively. Find the cost of

white washing the walls of the room and the ceiling at the rate of Rs 7.00 per m?
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